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public class Person public class Student : Person
{ {
protected string name; private int cita;
B:?\?gt??gtl%t' yearBorn; public Student (String name, int year, int id, int cita)
' : base (name, year, id)
public Person (string name, int year, int id) {
{ this.cita = cita;
this.name = name; }
this.yearBorn = year;
this.id = id; /I non 935 Set -y Get mvwe
j’/ public override int CalcAge (int yy)
nMon 9o set -1 get mvya {
L . . int age = base.CalcAge (vy);
?ubllc virtual int CalcAge (int yy) if (age < 6) return 1;
. ) if (age < 12) return 2;
) return yy - this.yearBorn; if (age < 18) return 3:
return 4,
public override string ToString () }
{ string str = “iame: * +this.name + Eublic override string ToString ()
return str: age: " + thie.CalcAge(); return base.ToString() + "cita: " + this.cita;
’ }
y }
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public Student (string name, int year, int id, int cita) : base (name, year, id)

(
I

this.cita = cita; 1t

Person Syn npunn S¥ mnNonn 9INNND INIAN NHYIN
OPNDNN NPINNA MITHND MNINN INNN

N2 adin

blog.csit.org.il



PIN3Y 2hJIN Nljoh - ¥”NH 2 PChN?2 '¥7IN

nponna (override) wrnn NYTIN NY2P Yax (virtual) ©yoan/HSyn NPHNNI NITINN NYWD NI 2
(PPN NITINN IR NP %92 "NPNoR” winn NAHnn)  Dase.nowa-ow() : MNONN

,©Y021 NPONN/2YN NPYNN NI IOV NDIVA WTNN NN NI NPYNN/NPONN-NN DN)
(.©02N NPONN DY NOWAN NN DPYIND NIMNYN NI

S ONTH

-n no2pw CalcAge() nHvaa wnnwnb N xon .CalcAge() nx wTnn N7 Student o
base.CalacAge(...) -5 M9N NN 199 .NHwN PoIN Person

public override int CalcAge (int yy)

{
int age = base.calcAge (yy); <+
if (age <6) returnl;
if (age <12) return 2;
if (age <18) return 3;
return 4,
}
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public voerride string toString ()

{
k

return base.ToString() + "cita: " + this.cita;
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